
ANSWER KEY TOPIC WISE EXAM -4 

1. C.XtUm_  

2. A.\µ³ Im\³ 

3. A.Häs¡m¼³ Im­marKw 

4. D.temIvXmIvXSmIw 

5. C.]eamhp 

6. B.a[y{]tZiv 

7. A.kp`mjvN{µ t_mkv 

8. B._mcnkväÀPn ]n ]nÅ 

9. C.Alnwkm Zn\w 

10. A.N¼mc³ kXym{Klw 

11. A .I K Ipamc³ amkväÀ 

12. A .ktcmPn\n \mbnUp 

13. D. A&B 
14. D.kÄ^yqcnIvBknUv 

15. B.sken\nIvBknUv 

16. B.BÂIen 

17. B. hnÃzmÀh«w 

18. A .aqÀJ³]d¼v 

19. C. HmtcmIp«nIfpw 

20. C.Ah³ tXmäXn\p ImcWw 
]Tn¡mXncp¶XmWv 

21. B. hmb\mioew 

22. D.KXy´canÃmsXbmWv Ah³ \mSphn«Xv  
23. A. School 
24. D. a loaf 
25. C.tribe 
26. D.puppies 
27. D.8 
28. D.44 

29. C.23 

30. B.11:3 

 
 

MATHS EXPLANATION 
 
 
27. Father  son 
        4x  x 
     4x+4  x+4 
 4x+4=3(x+4) 
  X=8 
28. ഇരുപതാം നൂئാ؇ിൽ ജനി׺െത׸ിൽ  

      1901-2000 ഇടയിലായിരിׯണം 

  442=1936 
29. ْപിയയുെടയും സുമയുെടയും    
ഇേؚാഴെ؋ വയുشകളുെട തുക=16+18 
           =34 
  തുക 80 ആകാൻ 

 (80-36)=46 
      46/2=23 

വയുشകളുെട തുക=36 X 2=72 
വയുشകളുെട അനുപാതം=5:1 
5x+x=72 
X=12 
വയുشകൾ=60,12 
6 വർഷം കഴി؁് വയുشകളുെട 
അനുപാതം=(60+6): (12+6) 
 =66:18 
 =11:3 
 
 
Note: 15 question 
സٔർണം ലയിؗുׯ 
sken\nIvBknUv ആണ്  

സٔർണം ലയിؗുׯ 
മിْശിതമാണ് AIzmdoPnb   

) 

 

 


